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Foundations of Math 9 Updated May 2019

Name: |"-'-~ f\/
Final Exam Practice Pack — Section 6
Term: Any variable, constant, or product of the two
Example: 3, 4x, t, 2r% «xyz
Like Terms: Terms that have the same variable(s) to the same exponents

Example: x? and 4x%, 7tand 3t, 4and9
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Degree of aTerm: The exponent on the variable or sum of exponents on different variables

of one term
Example: 3x is Degree 1, 4x?is Degree 2, 5xyz is Degree 3
Polynomial: Any term or terms separated by addition or subtraction where all

exponents on the variables are whole numbers

Example: 5t2+2t—7

Example: Combine the Like Terms and leave the simplified expression in Descending Order
5xy + 5x? + 2x — 6 — 4yx + 2x + 6 — 3x?
Like Terms are:
+5x2and —3x? so  5x?—3x%2=2x2 Degree of 2 g,
Poxy and yx are the same, :
S5xy and — 4yx SO S5xy —4xy = xy Degree of 2 | in multiplication order
i doesn’t matter, xy = yx !
+2x and + 2x SO 2x + 2x = 4x Degree of 1 t-eecemeemmommmii i
—6and + 6 so —-6+6=0 Degree of 0
Since x2and xy are both degree 2, which one goes first?

We list them ALPHABETICALLY, x% = xx and xx comes before xy

2x% + xy + 4x
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Identify the number of terms, what are they, and their degrees

1. 2x*—4x?2 -5 |, 4x3yz '3 xy —5xy3 + 4y
— 3 terms ) i‘ +€fM Ji -3 fesm ¢
AL o s
Loy 0 { ; l b 4
ot Ay HO N 4 Y sy
4 Sxty+axy? “exy |5 -3 ‘6. 3xyz+5z—xt
2 3 deran s — [ Ferm 7 2 ferpes
- - e 4
J\gh \-‘V) L{)(_L{ ),{DLY E -2 __j)kf.:',«'é) 5?’ )’i
4 b b Ly
JL}O 01,12,3 0{,,7,7_ ' A% 5 "47 b

Put the following Polynomials in DESCENDING ORDER

7. —2+45x2—7x s —3t+6t3+t—8t2 |0 12— 3x + 4x2

Sx2-T7x -2 éé?{ Y{Z'ff 44 A//XZ~57;<+/Z_

“16.""""'3'22"—"'42':E;""""'E'Iif""}‘c}i'?&c'j}l'}é'z"lj}?‘ 12, ~5xy — 4y + x%

g \/ : v=>/’+ xu/ %)c7-*54£' X% 5)07_,,
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Simplify the following, put your answer in DESCENDING ORDER

15 AL+ 7 — 36 =TE + 14 —6F2
s STy -2+ 741

= - 13774 + 2
—478(= A7~ 77% + 8 = 52— 9 + 277 £.37

= —YP Pt 2255253 t 324+ 7T

~H- 105

14.

15, —;x/y+]/+5ﬁ—/7/
= -Cxy+Sxyt -]
-0
6 —q+10G% — 17 — 3G +94 + 14
:fmff?;}ﬂj/ %V/W/M
= 192+ 89 -3
17.L‘X(Z§42+/4/i—/2/iz—/"’f-|76/\)
T ULF- 54U~ 180+ 3
= 54 bt 3b
—5.6% — 429 — 234 72y -3~
- _g‘(DK"Z'bx’L_('-th 7.1:@«3

18.
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‘5[(§x+/ﬁ—-fx Zy >
= &ixrlZX +Sj-}0\j*ﬂo
— q;k» gtg-\'ﬁD

L /3/——1/"‘—’“1

= &5‘2,5@;

Add the following Polynomials, leave answer in DESCENDING order.

21. 2x+7)+ (3x —17) izz. (2x2 +5x+ 7) + (—=3x? + 7 + 4x)

= ax+ )+ - 7] T+ St ] 3+ ]+ Hy

= dx * 2x + 1 -\ E:;L)(1-3)<1+Sx+"()4+7+7
= 5y —lo .t

____________________________________________________________________________________________________________________

23. (2xy +5x3—7) 4+ (5xy — 2x3 + 8) 24 (=5 +7t* — 4t) + (=2t + 7t* + 8)

S A SO=74 w275 TS E R HE - 2E W E
T = HE-24 -1 8

= Gx% Ax%y 2+ $x -’7+3§
J P e ‘L(,tz_(at-{”g

= o34 Ty + |
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25, (—4j3 +3j2 —5j+7) + (—3j° + 2j2 = 5j + 12)
=3 3L 202 2~ _cod 7+

= ,Ua.‘, 531,40Jj+ 19

26. (—4 +3x — 4x2) + (=7x% —x) 2. (=2t*+7) + (=3t —6)
= M-I 3 -x - o = -2¢*-3t*+ 77l
== x- Y T -sr

T -3 x-2% 5 i’%xz»sz”Lz\\J'Z—rj‘*ZK's*
= T —Gx*y - X
“loxr—du+ > § = %6

30(_4x+2x2)+(5+3x2)31(—5+7x2—4x)+(—5x+2x2—4)
= AL+ Sxr- "{%-l's :7;(1_\,?/)(2"%)L——6)("§"’9
= Sx*-4{x+ S ’/‘%&,ﬁx’ﬂ
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32. (=3x + 2xy — 2y) + (2xy + 3y) + (3y — 7x)
Ayt ArYy - 5&«7><f27 +517 + 37
= Yxy-/l6x+ Ty
/

;g*‘[}"?/"'af'l' L{,L\ar—éx—gx -/Z,x+2-%+ 7L2,
= Ixyg -8r+ Clg

Subtract the Polynomials, leave answer in DESCENDING order.

30. (x? —4x+7) — (=3x% —4x + 3) 135, (—t3 — 5t + 4t2) — (—2t% + 7t + 2t?)
B R O R A Ty YL VLS TR
TR Y e F -3

X x’ﬁw | ""%}+LH;2'IQ'E

36. —=(z+4) — (=3z+05) 7. W+2)—(2w—-9)
- -z-4+32-5 cwr2-2w+T
- 2% -9 f*———w-%r A
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38. (3r — 6) — (=51 +12) 39 (G —14) — (=7j — 11)

Z2ee6r-b-12L é:j-ﬂ—ﬁ?Jﬁ’H“'W

s0. (—2k? + 5k —8k) — (— 3k2—-2k4-6k)—-( 6k% + 9k + k)
=2k 2Ry bk S LY - TK I A

“ k-

a1. (5—=2t) —(=3+4+9t) — (12 + 4t)
a2 Ll s - R e
= —[6t -

22. (=2x+3y) — (—4x +12y) — (—x — 7y)
= -1x+ Y+ x434f\lj t "17
= SKR- L1y
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3. (—7x — 6y +132) — (—4x + 7y) — (—2x + 2y — 2)

= Tx 4 He e by -4~ 2qtildz2-T72 +2

= %%~ |§? + 72

Perform the Combined Operations

a4. (—2st — 35 — 9t) — (—12st + 8t) + (=35 + 2t)
T 2st v 125t 3¢ -3¢ -9L 94+ 24
= |0st-lbs—1G+

a5. (—x +8y) + (12x — 10y) — (5x — 11y + 52)

= —x4+1x—5x 3y 10y + -5z
= lox+ 0\3-’ 52

T Yt Gﬁif3ﬁj+gx‘j vge-72-S2
- I xFx g;cn/i Zz
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Multiply the following. Leave answer in DESCENDING order.

e e —

y <N ) "“\\ \\
47. —2(x — 5) ! 48. —(th +t—4)

== ’“2.2: 410 - "'Z%Z/‘{: i b{

k+2)

RIS T

50. —4k2(k2 | 51, —Z( 3z—8)

> 2354+ Rz

Updated May 2019

o ~

s 4tp(—3t2 — 7p)

>—l24%p - 28 €p7

....................................................................

§52 2x( 2y+3x— 7z)

—‘”‘"ﬂ ij%*(b)kz-* qx 2

__________________________________________________________________________________________________________________________

53. xy( nyz + 32 — xy) ‘54, 25t(3s — ‘At + st)
== ’sziél%“— ijz*x‘z‘f?_

:«;x‘\gz’fx ‘31 4—’5%3%
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| 55. —2x2( e +3y +zz)

[os% 234’24'2{%7' = xH- (axigl N
Zy etk (ot - gskl
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Divide the following. Leave answer in DESCENDING order

—6x+15 L 7t245¢ ~6x%2-12x+18
56. T i 57. 58
e t | 3

=-2x+S T 7t+s S T

3¢3+12¢%-15q | —4tP+2t . -3a’bc—ab®c+abc?
59. 160, —/ , 61,

5q h t 5 —abc

-4 L+2 §° 2a+b -

—

=2 .2 \Z
S5y 2

__________________________________________________________________________________________________________________________

21z%-9z343z2 ; 12r1248r3_4r2 ; —a?b%c+ab?c?- a?p?c?
62. ' 63. — | 64.
—3z2 ; —2r~2 ; —ab?c
— - . —a-C+ ac
A S B AL NV BCIE R
' . zact+a-C
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Perform the Combined Operations. Answer in DESCENDING order.

c——e,

65, —3(=2x2 = 7%) + 52(3x 4 6)
- (@K1+ 20w+ [SxZ+ 20X
2\ xkr+ Sy

. /"’“‘ S S
—zt(tf+4t) SN\
66. _/f—' —3t(—4t—7)

T 243 (2T 218
10 £> «13¢

7q(3q +4q) | 3q(49*-q)
67. 7 =l ,7/-—--\

fﬁzz\,‘aw 3(797-%)

-

e *’Bcf- o+ /2?,3- ,%qr

~§z3(z 3) . (;z+¢zz)
A =7
_ -2 (@) +d (2 v 22”)
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